



St. Louis County, Minnesota

Date of Report: 4/27/2025 2:20:33 AM

General Details

 Parcel ID:
 450-0010-03030

 Document:
 Abstract - 01425046

Document Date: 08/03/2021

Legal Description Details

Plat Name: MIDWAY

SectionTownshipRangeLotBlock194915--

Description: W 802 4/10 FT OF SW 1/4 OF SW1/4 EXCEPT W 1/2 OF W 802 4/10 FT LYING SOUTH OF RY RT OF WAY

Taxpayer Details

Taxpayer NameDAVEAU JEFFREY JRand Address:5872 DAVEAU RDDULUTH MN 55810

Owner Details

Owner Name DAVEAU JEFFREY JR

Payable 2025 Tax Summary

2025 - Net Tax \$2,443.00 2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$2,472.00

Current Tax Due (as of 4/26/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,236.00	2025 - 2nd Half Tax	\$1,236.00	2025 - 1st Half Tax Due	\$1,236.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,236.00	
2025 - 1st Half Due	\$1,236.00	2025 - 2nd Half Due	\$1,236.00	2025 - Total Due	\$2,472.00	

Parcel Details

Property Address: 5872 DAVEAU RD, DULUTH MN

School District: 704
Tax Increment District: -

Property/Homesteader: DAVEAU JR., JEFFREY A.

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$118,000	\$144,700	\$262,700	\$0	\$0	-		
	Total:	\$118,000	\$144,700	\$262,700	\$0	\$0	2398		





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:20:33 AM

Land Details

Deeded Acres: 18.02 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

M - MOUND Sewer Code & Desc:

Lot Width: 0.00

0.00									
					/Tax@stlouiscountvmn.gov.				
Improvement 1 Details (HOUSE)									
Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.					
1958	948		948	ECO Quality / 120 Ft ²	RAM - RAMBL/RNCH				
Story	Width	Length	Area	Found	ation				
1	11	12	132	FOUND	ATION				
1	24	34	816	BASEN	MENT				
1	8	14	112	POST ON (GROUND				
Bedroom Count	t	Room C	ount	Fireplace Count	HVAC				
3 BEDROOMS		-		0	C&AIR_COND, FUEL OIL				
Improvement 2 Details (PB 26X48)									
Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
1990	1,2	248	1,248	-	-				
Story	Width	Length	Area	Found	ation				
1	26	48	1,248	POST ON (GROUND				
	mprove	ment 3 De	tails (PB 14X2	24)					
Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
1990	336 336		336	-					
Story	Width Length Area		Area	Foundation					
1	14	24	336	POST ON (POST ON GROUND				
	Improve	ment 4 De	etails (GAZEB	0)					
Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	12	20	120	120 -					
Story	Width	Length	Area	Found	ation				
1	10	12	120	-					
1	10	12	120	POST ON (POST ON GROUND				
Improvement 5 Details (ST 12X16)									
Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	19	92	240	-					
Story	Width	Length	Area	Found	ation				
1.0	10	16	5 192 POST ON GROUND		SPOLIND				
	Year Built 1990 Story 1	Improve Story Width 1 14 14 14 14 15 14 16 16 16 16 16 16 16	ot guaranteed to be survey quality. Additional lot gov/webPlatsIframe/frmPlatStatPopUp.aspx. If to Improvement 1 D Year Built Main Floor Ft 2 1958 948 Story Width Length 1 11 12 1 24 34 1 8 14 Bedroom Count Room Count 3 BEDROOMS Improvement 2 De Year Built Main Floor Ft 2 1990 1,248 Story Width Length 1 26 48 Improvement 3 De Year Built Main Floor Ft 2 1990 336 Story Width Length 1 14 24 Improvement 4 De Year Built Main Floor Ft 2 1990 336 Story Width Length 1 14 24 Improvement 4 De Year Built Main Floor Ft 2 1990 120 Story Width Length 1 10 12 1 10 12 Improvement 5 De Year Built Main Floor Ft 2 1990 120 Story Width Length 1 10 12 1 10 12 Improvement 5 De Year Built Main Floor Ft 2 1990 1992 Story Width Length	Improvement 2 Details (PB 26X4 Year Built Main Floor Ft 2 Gross Area Ft 2 1990 1,248 1,248 Story Width Length Area 1 26 48 1,248 1990 336 336 Story Width Length Area 1 14 24 336 Story Width Length Area 1 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,248 10 10 12 1,20 10 10 12 1,20 10 10 10 12 1,20 10 10 10 12 1,20 10 10 10 10 10 10 10	Improvement 2 Details (PB 26X48)				





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:20:33 AM

		Improvem	ent 6 Details	(WOODSHE	D)				
Improvement Type	Year Built	•		oss Area Ft ²	•	ment Finish	Style	Code & Desc.	
STORAGE BUILDING 0		13	135			-		-	
Segmen	t Stor	y Width	Width Length			Foundation			
BAS	BAS 1		15 135			POST ON GROUND			
		Improven	nent 7 Details	s (9X10 SHED)				
Improvement Type		Main Fl			Area Ft ² Baser		Style	Style Code & Desc.	
STORAGE BUILDIN		9	<u>* </u>	90		-		-	
Segment Story						Foundation			
BAS	1	9	10	90		POST ON C	BROUND		
		-		s (Woodshed)				
Improvement Type		Main Fl	Main Floor Ft ² Gross Area Ft ²		Base	Basement Finish		Style Code & Desc.	
STORAGE BUILDIN			96 96		<u>-</u>		-		
Segmen			ŭ			Foundation			
BAS	<u> </u>	8	12	96		POST ON G	GROUND		
		Improvem	ent 9 Details	(YARD DEC	()				
Improvement Type				oss Area Ft ²	Base	ment Finish	Style	Code & Desc.	
	0		2	112					
Segment Story			_	Area			Foundation POST ON GROUND		
BAS	0	8	14	112			BROUND		
		Sales Reported	I to the St. Lo	ouis County A	uditor				
	e Date		Purchase Pr				V Number		
08.	/2021		\$200,800				245037		
		Α	ssessment H	listory		Def			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV		Total EMV		Def Bldg EMV	Net Tax Capacity	
.	201	\$111,000	\$143,800	\$254,8	300	\$0	\$0	-	
2024 Payable 2025	Total	\$111,000	\$143,800	\$254,	300	\$0	\$0	2,312.00	
	201	\$105,200	\$130,500	\$235,	700	\$0	\$0	-	
2023 Payable 2024	Total	\$105,200	\$130,500	\$235,	\$235,700		\$0	2,197.00	
2022 Payable 2023	201	\$98,900	\$120,900	\$219,8	300	\$0	\$0	-	
	Total	\$98,900	\$120,900	\$219,	300	\$0	\$0	2,023.00	
	201	\$94,500	\$109,800	\$204,	300	\$0	\$0	-	
2021 Payable 2022	Total	\$94,500	\$109,800	\$204,	300	\$0	\$0	1,854.00	
			Tax Detail Hi	story					
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmen		and MV	Taxable Bui		tal Taxable M\	
2024	\$2,461.00	\$25.00	\$2,486.00	\$98,0)47	\$121,62	6	\$219,673	
2023	\$2,381.00	\$25.00	\$2,406.00	\$91,0)45	\$111,29	7	\$202,342	
2022	\$2,433.00	\$25.00	\$2,458.00	\$85,7	779	\$99,668	\$99,668 \$185,		





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:20:33 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.